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B B | N TR B | e | ERY B
B3| TFIILRUEY 6 2,024 g 2,024 2 0 0 0 1,978 7 0 1,978 4002 6
PANER (A Sk 1 0 - 0 B 0 0 0 91,000 2 0 91,000 91,000 &
76|14 70y —hTASH4 L 2 0 - 0 - 0 0 0 860 10 0 860 860 12
80| %L 9 9,885 2 9,885 2 0 0 0 3,398 g 0 3,398 13,283 4
83|74y 1 260 8 260 8 0 0 0 0 B 0 0 260 16
87| /A LRU=MoaLiLEy 7 0 - 0 B 0 0 0 5,489 & 2,801 2,688 5,489 g
88 |AffivALiL & 8 0 - 0 B 0 0 0 90 16 1 89 90 18
213|N, N—=SAFJLFHEFTIR 1 130 9 130 9 0 0 0 370 12 0 370 500 13
243| B AFH 5 1 0 13 0 13 0 0 0 36 1 0 36 36 19
272 | SRKA IS (BIEERRL,) 6 0 B 0 B 0 0 0 3,197 6 6 3,191 3,197 7
296(1, 2, 4—RJYAFILARLEY 5 6,500 € 6,500 g 0 0 0 7,384 € 0 7,384 13,884 8
297|1, 3, 5—RJAFILARLEY 1 300 7 300 7 0 0 0 1,300 9 0 1,300 1,600 9
300|kLTY 40 708,149 t 708,149 [ 0 0 0 591,973 i 0 591,973 1,300,122 t
302|F74L Y 2 38 10 38 10 0 0 0 120 15 0 120 158 7
308|=v4 L 2 0 - 0 - 0 0 0 2 19 2 0 2 21
309 = JLIER Y 2 0 - 0 - 0 0 0 330 13 0 330 330 15
392| /LTI — XYY 1 2,500 & 2,500 & 0 0 0 250 14 0 250 2,750 8
401(1, 2, 4—RUEUM)AILRUEET, 2—EKYD 1 0 - 0 - 0 0 0 0 - 0 0 0 -
411 |RILLTILTER 3 1,191 6 1,191 6 0 0 0 25 18 0 25 1,216 1
438 | AFJLFTHLY 2 31 12 31 12 0 0 0 0 B 0 0 31 20
A8 AFLUE R (4, 1—TT=LY) =SA YL T R—k 5 0 - 0 B 0 0 0 1,380 8 0 1,380 1,380 10
455|FJLRY Y 1 36 1 36 " 0 0 0 440 1 0 440 476 14
At 107 731,043 - 731,043 - 0 0 0 709,587 - 2,811 706,776 1,440,630 -




